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QUESTION 1

Which statement about standard switches is true? 

A. Performs Port Mirroring simultaneously for virtual machines in all port groups 

B. Performs Port Mirroring for virtual machines in the same port group. 

C. Bridges traffic between virtual machines in other port groups. 

D. Bridges traffic internally between virtual machines in the same port group. 

Correct Answer: D 

Explanation: A standard switch can bridge traffic internally between virtual machines in the same port group and link to
external networks. Reference:https://pubs.vmware.com/vsphere-51/index.jsp?topic=%2Fcom.vmware.vsphere.networki
ng.doc%2FGUID-350344DE-483A- 42ED-B0E2-C811EE927D59.html 

 

QUESTION 2

What is the minimum number of virtual NICs that you can configure for a virtual machine? 

A. Four 

B. One 

C. Zero 

D. Two 

Correct Answer: B 

Explanation: Virtual machines can be configured with 1 to 4 NICs. 

Reference: http://www.cisco.com/c/en/us/td/docs/security/ise/1- 2/installation_guide/ise_ig/ise_vmware.html 

 

QUESTION 3

A company has recently reported a financial loss and has identified that a major part of their expenses is the maintaining
and managing of their virtualized network in the data center. 

The company needs a solution that would help cut down on their operating expenditures. 

What should the company do to solve this issue? 

A. Virtualize the physical servers. 

B. Implement a management platform for IT services on vSphere and other hypervisors. 

C. Remove all physical servers which are not in use. 
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D. Increase the number of physical servers. 

Correct Answer: D 

 

QUESTION 4

How does Storage Replication handle data replication without a dedicated link between various storage sites? 

A. By using storage I/O control for replication of datastores. 

B. By Using the host as a medium to provide asynchronous replication of datastores. 

C. By using volume level mirroring. 

D. By using storage vMotion. 

Correct Answer: D 

Explanation: vSphere Storage vMotion Yes You can move the disk files of a replicated virtual machine on the source
Reference: http://pubs.vmware.com/vsphere-replication- 60/topic/com.vmware.ICbase/PDF/vsphere-
replication-60-admin.pdf 

 

QUESTION 5

Which statement best defines virtualization? 

A. The process of scaling applications and licenses to support multiple hosts 

B. The process of moving virtual machines from one .place to another 

C. The process of replicating virtual versions of physical components 

D. The process of creating virtual versions of physical components 

Correct Answer: D 
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